\$236,430.00

Attest:

Page 1 of 4

\$265,500.00

**Tabulation of Bids** 

Maine Department of Transportation Contract ID: Counties: MIDCOAST REGION 2

030007.03

A True Copy:\_\_\_\_\_ **Letting Date:** February 19, 2025 District(s): MIDCOAST REGION

Call Order: Project(s):

**Contract Time:** 12/31/27 COMPLETION DATE

**Contract Item Totals** 

Contract Description: REGION 2 TRACK EXCAVATORS 2025 - 2027 Notary Public									
Line No / Item ID Item Description				(1) UNITED RENTALS AKA UNITED RENTALS NORTH AMERICA INC.		(2) EAGLE RENTAL		(3) CHADWICK BAROSS	
Alt Se	t / Alt Member	Quantity a	and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	1 REGION	N 2 TRACK EXC	AVATORS	Cat Alt Set:	Cat Alt Member:	LCC:			
0010	631.60	15.000	15.000	3,850.00000	57,750.00	4,200.00000	63,000.00	4,500.00000	67,500.00
	ENT RENTAL (BY MONTH) EXCAVATOR #2-1, 25,000 - R2		СМ						
0020	631.60	15.000	15.000	3,850.00000	57,750.00	4,200.00000	63,000.00	4,500.00000	67,500.00
	ENT RENTAL (BY MONTH) EXCAVATOR #2-2, 25,000 - R2		СМ						
0030	631.60	15.000	15.000	3,850.00000	57,750.00	4,200.00000	63,000.00	4,500.00000	67,500.00
	ENT RENTAL (BY MONTH) EXCAVATOR #2-3, 25,000 - R2		СМ						
0040	815.281	45,000.00045	,000.000	1.00000	45,000.00	1.00000	45,000.00	1.00000	45,000.00
ALLOWA & MATE	NCE - ALLOWABLE PART RIALS	S DOL	DOL						
0050	910.30	9.000	9.000	300.00000	2,700.00	135.00000	1,215.00	1,000.00000	9,000.00
	ORTATION - REGION 2 RY BY CONTRACTOR (PER	EA R	EA						
0060	910.30	9.000	9.000	300.00000	2,700.00	135.00000	1,215.00	1,000.00000	9,000.00
	ORTATION - REGION 2 BY CONTRACTOR (PER	EA	EA						
	Section Totals:				\$223,650.00		\$236,430.00		\$265,500.00
	Life Cycle Costs:								
Sect	ion Total with LCC:				\$223,650.00		\$236,430.00		\$265,500.00

\$223,650.00

Tabulation of Bids Page 2 of 4

Contract ID: 030007.03 Counties: MIDCOAST REGION 2 Maine Department of Transportation

Letting Date: February 19, 2025 District(s): MIDCOAST REGION A True Copy:\_\_\_\_\_\_

Call Order: 5 Project(s):

Contract Time: 12/31/27 COMPLETION DATE

Contract Description: REGION 2 TRACK EXCAVATORS 2025 - 2027

Attest: \_\_\_\_\_\_\_
Notary Public

**Contract Time Totals** 

Contract Life Cycle Costs Totals \$0.00 \$0.00

Contract Grand Totals \$223,650.00 \$236,430.00 265,500.00

() indicates item is bid as Lump Sum

2/21/2025

Maine Department of Transportation

## **Tabulation of Bids**

Contract ID: 030007.03 Counties: MIDCOAST REGION 2

A True Copy:\_\_\_\_\_ **Letting Date:** February 19, 2025 District(s): MIDCOAST REGION

Call Order: 5 Project(s):

**Contract Time:** 12/31/27 COMPLETION DATE

Attest: \_\_\_\_

Notary Public Contract Description: REGION 2 TRACK EXCAVATORS 2025 - 2027

Line No / Item ID Item Description Alt Set / Alt Member			Quantity and Units		(4) MILTON CAT					
					Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	1 RI	EGION 2	TRACK EXC	AVATORS	Cat Alt Set:	Cat Alt Member:	LCC:			
0010	631.60		15.000	15.000	4,900.00000	73,500.00				
	ENT RENTAL (BY MO EXCAVATOR #2-1, 25, R2		СМ	СМ						
0020	631.60		15.000	15.000	4,900.00000	73,500.00				
	ENT RENTAL (BY MO EXCAVATOR #2-2, 25, R2		СМ	СМ						
0030	631.60		15.000	15.000	4,900.00000	73,500.00				
	ENT RENTAL (BY MO EXCAVATOR #2-3, 25, R2		СМ	СМ						
0040	815.281	4	5,000.00045	,000.000	1.00000	45,000.00				
ALLOWA & MATER	NCE - ALLOWABLE F RIALS	PARTS	DOL	DOL						
0050	910.30		9.000	9.000	500.00000	4,500.00				
	ORTATION - REGION RY BY CONTRACTOR		EA	EA						
0060	910.30		9.000	9.000	500.00000	4,500.00				
	ORTATION - REGION BY CONTRACTOR (F		EA	EA						
	Section Totals:					\$274,500.00				
	Life Cycle Costs:									
Section Total with LCC:						\$274,500.00				
Contract Item Totals						\$274,500.00				

**Tabulation of Bids** 

Contract ID: 030007.03 Counties: MIDCOAST REGION 2

**Letting Date:** February 19, 2025 District(s): MIDCOAST REGION

Call Order: 5 Project(s):

**Contract Time:** 12/31/27 COMPLETION DATE

Contract Description: REGION 2 TRACK EXCAVATORS 2025 - 2027

**Contract Time Totals** 

\$0.00 **Contract Life Cycle Costs Totals** 

> \$274,500.00 **Contract Grand Totals**

() indicates item is bid as Lump Sum

Maine Department of Transportation							
A True Copy:							
Title :							
Attest:Notary Public							

2/21/2025

Page 1 of 1

**Vendor Ranking** 

Call Order: 5 Contract ID: 030007.03 Counties: MIDCOAST REGION

2

Letting Date: February 19, 2025 11:00 District(s): MIDCOAST REGION

Contract Time: 12/31/27 COMPLETION Min: Max:

DATE

Contract Description: REGION 2 TRACK EXCAVATORS 2025 - 2027

Project(s):

	Rank	Vendor ID/Name	Total Bid	Percent Of Low Bid
1	001549	UNITED RENTALS AKA UNITED RENTALS NORTH AMERICA INC.	\$223,650.00	100.00%
2	004059	EAGLE RENTAL	\$236,430.00	105.71%
3	002386	CHADWICK BAROSS	\$265,500.00	118.71%
4	004199	MILTON CAT	\$274,500.00	122.74%